

Math 3410 Lecture 14

Greg Oman

University of Colorado
Colorado Springs

General Limits of Sequences

Recall the following definition of a sequence (x_n) converging to a real number L :

General Limits of Sequences

Recall the following definition of a sequence (x_n) converging to a real number L :

(x_n) converges to L , denoted $(x_n) \rightarrow L$, provided that for every $\epsilon > 0$, there exists a natural number k such that for every natural number $n \geq k$, we have $|x_n - L| < \epsilon$.

General Limits of Sequences

Recall the following definition of a sequence (x_n) converging to a real number L :

(x_n) converges to L , denoted $(x_n) \rightarrow L$, provided that for every $\epsilon > 0$, there exists a natural number k such that for every natural number $n \geq k$, we have $|x_n - L| < \epsilon$.

Let's do another proof.

General Limits of Sequences

Recall the following definition of a sequence (x_n) converging to a real number L :

(x_n) converges to L , denoted $(x_n) \rightarrow L$, provided that for every $\epsilon > 0$, there exists a natural number k such that for every natural number $n \geq k$, we have $|x_n - L| < \epsilon$.

Let's do another proof.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$. Now let $\epsilon = \frac{M-L}{2}$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$. Now let $\epsilon = \frac{M-L}{2}$. Note that $\epsilon > 0$ (why?). Since $(x_n) \rightarrow L$, there is a $k_1 \in \mathbb{N}$ such that if $n \geq k_1$, then $|x_n - L| < \epsilon$, and since $(x_n) \rightarrow M$, there is a $k_2 \in \mathbb{N}$ such that if $n \geq k_2$, then $|x_n - M| < \epsilon$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$. Now let $\epsilon = \frac{M-L}{2}$. Note that $\epsilon > 0$ (why?). Since $(x_n) \rightarrow L$, there is a $k_1 \in \mathbb{N}$ such that if $n \geq k_1$, then $|x_n - L| < \epsilon$, and since $(x_n) \rightarrow M$, there is a $k_2 \in \mathbb{N}$ such that if $n \geq k_2$, then $|x_n - M| < \epsilon$. Now choose any natural number $n \geq \max(k_1, k_2)$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$. Now let $\epsilon = \frac{M-L}{2}$. Note that $\epsilon > 0$ (why?). Since $(x_n) \rightarrow L$, there is a $k_1 \in \mathbb{N}$ such that if $n \geq k_1$, then $|x_n - L| < \epsilon$, and since $(x_n) \rightarrow M$, there is a $k_2 \in \mathbb{N}$ such that if $n \geq k_2$, then $|x_n - M| < \epsilon$. Now choose any natural number $n \geq \max(k_1, k_2)$. Then observe that both $|x_n - L| < \epsilon$ and $|x_n - M| < \epsilon$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$. Now let $\epsilon = \frac{M-L}{2}$. Note that $\epsilon > 0$ (why?). Since $(x_n) \rightarrow L$, there is a $k_1 \in \mathbb{N}$ such that if $n \geq k_1$, then $|x_n - L| < \epsilon$, and since $(x_n) \rightarrow M$, there is a $k_2 \in \mathbb{N}$ such that if $n \geq k_2$, then $|x_n - M| < \epsilon$. Now choose any natural number $n \geq \max(k_1, k_2)$. Then observe that both $|x_n - L| < \epsilon$ and $|x_n - M| < \epsilon$. By the theorem on p. 7 of the 9/14 notes, we see that $-\epsilon < x_n - L < \epsilon$ and $-\epsilon < x_n - M < \epsilon$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$. Now let $\epsilon = \frac{M-L}{2}$. Note that $\epsilon > 0$ (why?). Since $(x_n) \rightarrow L$, there is a $k_1 \in \mathbb{N}$ such that if $n \geq k_1$, then $|x_n - L| < \epsilon$, and since $(x_n) \rightarrow M$, there is a $k_2 \in \mathbb{N}$ such that if $n \geq k_2$, then $|x_n - M| < \epsilon$. Now choose any natural number $n \geq \max(k_1, k_2)$. Then observe that both $|x_n - L| < \epsilon$ and $|x_n - M| < \epsilon$. By the theorem on p. 7 of the 9/14 notes, we see that $-\epsilon < x_n - L < \epsilon$ and $-\epsilon < x_n - M < \epsilon$. Via Additive Invariance, these inequalities become $L - \epsilon < x_n < L + \epsilon$ and $M - \epsilon < x_n < M + \epsilon$.

General Limits of Sequences

Theorem (Uniqueness of Limits)

Suppose that (x_n) is a sequence and L, M are real numbers. If $(x_n) \rightarrow L$ and $(x_n) \rightarrow M$, then $L = M$.

Proof.

Suppose by way of contradiction that there exists a real sequence (x_n) and real numbers L and M such that $(x_n) \rightarrow L$, $(x_n) \rightarrow M$, but $L \neq M$. By Trichotomy, either $L < M$ or $M < L$. Without loss of generality, $L < M$. Now let $\epsilon = \frac{M-L}{2}$. Note that $\epsilon > 0$ (why?). Since $(x_n) \rightarrow L$, there is a $k_1 \in \mathbb{N}$ such that if $n \geq k_1$, then $|x_n - L| < \epsilon$, and since $(x_n) \rightarrow M$, there is a $k_2 \in \mathbb{N}$ such that if $n \geq k_2$, then $|x_n - M| < \epsilon$. Now choose any natural number $n \geq \max(k_1, k_2)$. Then observe that both $|x_n - L| < \epsilon$ and $|x_n - M| < \epsilon$. By the theorem on p. 7 of the 9/14 notes, we see that $-\epsilon < x_n - L < \epsilon$ and $-\epsilon < x_n - M < \epsilon$. Via Additive Invariance, these inequalities become $L - \epsilon < x_n < L + \epsilon$ and $M - \epsilon < x_n < M + \epsilon$. □

General Limits of Sequences

Proof.

Recall that $\epsilon = \frac{L-M}{2}$, and so the previous two inequalities become

General Limits of Sequences

Proof.

Recall that $\epsilon = \frac{L-M}{2}$, and so the previous two inequalities become

$$L - \frac{L - M}{2} < x_n < L + \frac{L - M}{2}, \text{ and}$$

General Limits of Sequences

Proof.

Recall that $\epsilon = \frac{L-M}{2}$, and so the previous two inequalities become

$$L - \frac{L - M}{2} < x_n < L + \frac{L - M}{2}, \text{ and}$$

$$M - \frac{L - M}{2} < x_n < M + \frac{L - M}{2}.$$

General Limits of Sequences

Proof.

Recall that $\epsilon = \frac{L-M}{2}$, and so the previous two inequalities become

$$L - \frac{L-M}{2} < x_n < L + \frac{L-M}{2}, \text{ and}$$

$$M - \frac{L-M}{2} < x_n < M + \frac{L-M}{2}.$$

By doing some basic algebra, these become

General Limits of Sequences

Proof.

Recall that $\epsilon = \frac{L-M}{2}$, and so the previous two inequalities become

$$L - \frac{L - M}{2} < x_n < L + \frac{L - M}{2}, \text{ and}$$

$$M - \frac{L - M}{2} < x_n < M + \frac{L - M}{2}.$$

By doing some basic algebra, these become

$$\frac{L + M}{2} < x_n < \frac{3L - M}{2}, \text{ and}$$

General Limits of Sequences

Proof.

Recall that $\epsilon = \frac{L-M}{2}$, and so the previous two inequalities become

$$L - \frac{L-M}{2} < x_n < L + \frac{L-M}{2}, \text{ and}$$

$$M - \frac{L-M}{2} < x_n < M + \frac{L-M}{2}.$$

By doing some basic algebra, these become

$$\frac{L+M}{2} < x_n < \frac{3L-M}{2}, \text{ and}$$

$$\frac{3M-L}{2} < x_n < \frac{L+M}{2}.$$

General Limits of Sequences

Proof.

Recall that $\epsilon = \frac{L-M}{2}$, and so the previous two inequalities become

$$L - \frac{L-M}{2} < x_n < L + \frac{L-M}{2}, \text{ and}$$

$$M - \frac{L-M}{2} < x_n < M + \frac{L-M}{2}.$$

By doing some basic algebra, these become

$$\frac{L+M}{2} < x_n < \frac{3L-M}{2}, \text{ and}$$

$$\frac{3M-L}{2} < x_n < \frac{L+M}{2}.$$

But now $x_n < \frac{L+M}{2} < x_n$, and so by Transitivity, $x_n < x_n$, a contradiction. \square

General Limits of Sequences

The previous theorem shows that a sequences can converge to AT MOST one limit.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number.

General Limits of Sequences

The previous theorem shows that a sequences can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers.

General Limits of Sequences

The previous theorem shows that a sequences can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers. Assume that $(x_n) \rightarrow L$.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers. Assume that $(x_n) \rightarrow L$. We will show that $(rx_n) \rightarrow rL$.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers. Assume that $(x_n) \rightarrow L$. We will show that $(rx_n) \rightarrow rL$. If $r = 0$, this is clear, so assume $r \neq 0$.

General Limits of Sequences

The previous theorem shows that a sequences can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers. Assume that $(x_n) \rightarrow L$. We will show that $(rx_n) \rightarrow rL$. If $r = 0$, this is clear, so assume $r \neq 0$. Let $\epsilon > 0$. Then also $\frac{\epsilon}{|r|} > 0$.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers. Assume that $(x_n) \rightarrow L$. We will show that $(rx_n) \rightarrow rL$. If $r = 0$, this is clear, so assume $r \neq 0$. Let $\epsilon > 0$. Then also $\frac{\epsilon}{|r|} > 0$. Let $k \in \mathbb{N}$ be such that if $n \geq k$, then $|x_n - L| < \frac{\epsilon}{|r|}$.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers. Assume that $(x_n) \rightarrow L$. We will show that $(rx_n) \rightarrow rL$. If $r = 0$, this is clear, so assume $r \neq 0$. Let $\epsilon > 0$. Then also $\frac{\epsilon}{|r|} > 0$. Let $k \in \mathbb{N}$ be such that if $n \geq k$, then $|x_n - L| < \frac{\epsilon}{|r|}$. Now let $n \geq k$. Multiply through $|x_n - L| < \frac{\epsilon}{|r|}$ by $|r|$ to get $|r||x_n - L| < \epsilon$, which becomes $|r(x_n - L)| = |rx_n - rL| < \epsilon$.

General Limits of Sequences

The previous theorem shows that a sequence can converge to AT MOST one limit. The Squeeze Theorem and the Limit Laws also hold for limits other than 0. Let's prove these now.

Theorem (General Limit Law 1)

Suppose that $(x_n) \rightarrow L$, where (x_n) is a real sequence and L is a real number. Then for any real number r , we have $(rx_n) \rightarrow rL$.

Proof.

Let (x_n) be a real sequence, and let L, r be real numbers. Assume that $(x_n) \rightarrow L$. We will show that $(rx_n) \rightarrow rL$. If $r = 0$, this is clear, so assume $r \neq 0$. Let $\epsilon > 0$. Then also $\frac{\epsilon}{|r|} > 0$. Let $k \in \mathbb{N}$ be such that if $n \geq k$, then $|x_n - L| < \frac{\epsilon}{|r|}$. Now let $n \geq k$. Multiply through $|x_n - L| < \frac{\epsilon}{|r|}$ by $|r|$ to get $|r||x_n - L| < \epsilon$, which becomes $|r(x_n - L)| = |rx_n - rL| < \epsilon$. This shows that $(rx_n) \rightarrow rL$. □

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide.

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week).

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1?

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

Easier proof of General Limit Law 1:

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

Easier proof of General Limit Law 1: Suppose that $(x_n) \rightarrow L$ and that $r \in \mathbb{R}$.

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

Easier proof of General Limit Law 1: Suppose that $(x_n) \rightarrow L$ and that $r \in \mathbb{R}$. We wish to prove that $(rx_n) \rightarrow rL$.

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

Easier proof of General Limit Law 1: Suppose that $(x_n) \rightarrow L$ and that $r \in \mathbb{R}$. We wish to prove that $(rx_n) \rightarrow rL$. By definition, $(x_n) \rightarrow L$ *MEANS* that $(x_n - L) \rightarrow 0$.

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

Easier proof of General Limit Law 1: Suppose that $(x_n) \rightarrow L$ and that $r \in \mathbb{R}$. We wish to prove that $(rx_n) \rightarrow rL$. By definition, $(x_n) \rightarrow L$ *MEANS* that $(x_n - L) \rightarrow 0$. So by Limit Law 1, $(r(x_n - L)) \rightarrow 0$, that is, $(rx_n - rL) \rightarrow 0$.

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

Easier proof of General Limit Law 1: Suppose that $(x_n) \rightarrow L$ and that $r \in \mathbb{R}$. We wish to prove that $(rx_n) \rightarrow rL$. By definition, $(x_n) \rightarrow L$ *MEANS* that $(x_n - L) \rightarrow 0$. So by Limit Law 1, $(r(x_n - L)) \rightarrow 0$, that is, $(rx_n - rL) \rightarrow 0$. But this *MEANS* that $(rx_n) \rightarrow rL$, and we are done!

General Limits of Sequences

You may wonder if we really needed to reinvent the wheel on the previous slide. More specifically, we know that if $(x_n) \rightarrow 0$ and $r \in \mathbb{R}$, then $(rx_n) \rightarrow 0$ (we proved this last week). Can we use this fact to give a simpler proof of General Limit Law 1? Yes, we can!

Easier proof of General Limit Law 1: Suppose that $(x_n) \rightarrow L$ and that $r \in \mathbb{R}$. We wish to prove that $(rx_n) \rightarrow rL$. By definition, $(x_n) \rightarrow L$ *MEANS* that $(x_n - L) \rightarrow 0$. So by Limit Law 1, $(r(x_n - L)) \rightarrow 0$, that is, $(rx_n - rL) \rightarrow 0$. But this *MEANS* that $(rx_n) \rightarrow rL$, and we are done!

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$.

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $L, M \in \mathbb{R}$.

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $L, M \in \mathbb{R}$. Then by definition, $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$.

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $L, M \in \mathbb{R}$. Then by definition, $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. It follows from Limit Law 2 that $(x_n - L + y_n - M) \rightarrow 0$.

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $L, M \in \mathbb{R}$. Then by definition, $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. It follows from Limit Law 2 that $(x_n - L + y_n - M) \rightarrow 0$. Written another way, we get $(x_n + y_n - (L + M)) \rightarrow 0$.

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $L, M \in \mathbb{R}$. Then by definition, $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. It follows from Limit Law 2 that $(x_n - L + y_n - M) \rightarrow 0$. Written another way, we get $(x_n + y_n - (L + M)) \rightarrow 0$. But this ***MEANS*** (look back at the definition of convergence of a general sequence. Really. Do it.) that $(x_n + y_n) \rightarrow L + M$.

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $L, M \in \mathbb{R}$. Then by definition, $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. It follows from Limit Law 2 that $(x_n - L + y_n - M) \rightarrow 0$. Written another way, we get $(x_n + y_n - (L + M)) \rightarrow 0$. But this ***MEANS*** (look back at the definition of convergence of a general sequence. Really. Do it.) that $(x_n + y_n) \rightarrow L + M$. This completes the proof. □

General Limits of Sequences

Theorem (General Limit Law 2)

Let (x_n) , (y_n) be sequences, and let $L, M \in \mathbb{R}$. If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n + y_n) \rightarrow L + M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $L, M \in \mathbb{R}$. Then by definition, $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. It follows from Limit Law 2 that $(x_n - L + y_n - M) \rightarrow 0$. Written another way, we get $(x_n + y_n - (L + M)) \rightarrow 0$. But this ***MEANS*** (look back at the definition of convergence of a general sequence. Really. Do it.) that $(x_n + y_n) \rightarrow L + M$. This completes the proof. □

General Limits of Sequences

We now obtain the following corollary.

General Limits of Sequences

We now obtain the following corollary.

Corollary (General Subtraction Limit Law)

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$.

General Limits of Sequences

We now obtain the following corollary.

Corollary (General Subtraction Limit Law)

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$. Then $(x_n - y_n) \rightarrow L - M$.

General Limits of Sequences

We now obtain the following corollary.

Corollary (General Subtraction Limit Law)

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$. Then $(x_n - y_n) \rightarrow L - M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where (x_n) and (y_n) are real sequences and L, M are real numbers.

General Limits of Sequences

We now obtain the following corollary.

Corollary (General Subtraction Limit Law)

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$. Then $(x_n - y_n) \rightarrow L - M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where (x_n) and (y_n) are real sequences and L, M are real numbers. Note that $(x_n - y_n) = (x_n + (-1)y_n)$.

General Limits of Sequences

We now obtain the following corollary.

Corollary (General Subtraction Limit Law)

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$. Then $(x_n - y_n) \rightarrow L - M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where (x_n) and (y_n) are real sequences and L, M are real numbers. Note that $(x_n - y_n) = (x_n + (-1)y_n)$. By General Limit Law 1, we see that $(-1y_n) \rightarrow -1M = -M$.

General Limits of Sequences

We now obtain the following corollary.

Corollary (General Subtraction Limit Law)

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$. Then $(x_n - y_n) \rightarrow L - M$.

Proof.

Suppose that $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where (x_n) and (y_n) are real sequences and L, M are real numbers. Note that $(x_n - y_n) = (x_n + (-1)y_n)$. By General Limit Law 1, we see that $(-1y_n) \rightarrow -1M = -M$. Now by Limit Law 2, $(x_n + (-1)y_n) \rightarrow L + (-M) = L - M$, completing the proof. □

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M)

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$. This means that $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$. This means that $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. By Limit Law 3 from last week, we know that $((x_n - L)(y_n - M)) \rightarrow 0$, that is, $(x_n y_n - L y_n - M x_n + LM) \rightarrow 0$.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$. This means that $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. By Limit Law 3 from last week, we know that $((x_n - L)(y_n - M)) \rightarrow 0$, that is, $(x_n y_n - Ly_n - Mx_n + LM) \rightarrow 0$. Since $(y_n) \rightarrow M$, General Limit Law 1 tells us that $(Ly_n) \rightarrow LM$.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$. This means that $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. By Limit Law 3 from last week, we know that $((x_n - L)(y_n - M)) \rightarrow 0$, that is, $(x_n y_n - Ly_n - Mx_n + LM) \rightarrow 0$. Since $(y_n) \rightarrow M$, General Limit Law 1 tells us that $(Ly_n) \rightarrow LM$. Similarly, $(Mx_n) \rightarrow LM$.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$. This means that $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. By Limit Law 3 from last week, we know that $((x_n - L)(y_n - M)) \rightarrow 0$, that is, $(x_n y_n - Ly_n - Mx_n + LM) \rightarrow 0$. Since $(y_n) \rightarrow M$, General Limit Law 1 tells us that $(Ly_n) \rightarrow LM$. Similarly, $(Mx_n) \rightarrow LM$. Thus by General Limit Law 2, we see that $(x_n y_n - Ly_n - Mx_n + LM + Ly_n + Mx_n) \rightarrow 0 + LM + LM$, that is, $(x_n y_n + LM) \rightarrow 2LM$.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$. This means that $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. By Limit Law 3 from last week, we know that $((x_n - L)(y_n - M)) \rightarrow 0$, that is, $(x_n y_n - Ly_n - Mx_n + LM) \rightarrow 0$. Since $(y_n) \rightarrow M$, General Limit Law 1 tells us that $(Ly_n) \rightarrow LM$. Similarly, $(Mx_n) \rightarrow LM$. Thus by General Limit Law 2, we see that $(x_n y_n - Ly_n - Mx_n + LM + Ly_n + Mx_n) \rightarrow 0 + LM + LM$, that is, $(x_n y_n + LM) \rightarrow 2LM$. By definition, this means that $(x_n y_n + LM - 2LM) \rightarrow 0$, that is, $(x_n y_n - LM) \rightarrow 0$.

General Limits of Sequences

We can now use the previous results to prove that in general, the limit of the product of two sequences is the product of the limits. We can do this without ever writing down an epsilon!

Theorem (General Limit Law 3)

If $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, then $(x_n y_n) \rightarrow LM$ (for any real sequences (x_n) and (y_n) and any real numbers L and M).

Proof.

Let $(x_n) \rightarrow L$ and $(y_n) \rightarrow M$, where $(x_n), (y_n)$ are real sequences and $L, M \in \mathbb{R}$. This means that $(x_n - L) \rightarrow 0$ and $(y_n - M) \rightarrow 0$. By Limit Law 3 from last week, we know that $((x_n - L)(y_n - M)) \rightarrow 0$, that is, $(x_n y_n - Ly_n - Mx_n + LM) \rightarrow 0$. Since $(y_n) \rightarrow M$, General Limit Law 1 tells us that $(Ly_n) \rightarrow LM$. Similarly, $(Mx_n) \rightarrow LM$. Thus by General Limit Law 2, we see that $(x_n y_n - Ly_n - Mx_n + LM + Ly_n + Mx_n) \rightarrow 0 + LM + LM$, that is, $(x_n y_n + LM) \rightarrow 2LM$. By definition, this means that $(x_n y_n + LM - 2LM) \rightarrow 0$, that is, $(x_n y_n - LM) \rightarrow 0$. So again by definition, $(x_n y_n) \rightarrow LM$. \square

General Limits of Sequences

Let's pause to do a concrete limit computation.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator. Note that $x_0 = \frac{1}{2}$, but $x_{10} = \frac{11}{102}$, which is about $\frac{1}{10}$, and $x_{100} = \frac{101}{10002}$, which is about $\frac{1}{100}$.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator. Note that $x_0 = \frac{1}{2}$, but $x_{10} = \frac{11}{102}$, which is about $\frac{1}{10}$, and $x_{100} = \frac{101}{10002}$, which is about $\frac{1}{100}$. So hopefully your intuition is telling you that $(x_n) \rightarrow 0$.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator. Note that $x_0 = \frac{1}{2}$, but $x_{10} = \frac{11}{102}$, which is about $\frac{1}{10}$, and $x_{100} = \frac{101}{10002}$, which is about $\frac{1}{100}$. So hopefully your intuition is telling you that $(x_n) \rightarrow 0$. You may recall the following 'trick' from calculus: divide the numerator and denominator by the highest power of n .

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator. Note that $x_0 = \frac{1}{2}$, but $x_{10} = \frac{11}{102}$, which is about $\frac{1}{10}$, and $x_{100} = \frac{101}{10002}$, which is about $\frac{1}{100}$. So hopefully your intuition is telling you that $(x_n) \rightarrow 0$. You may recall the following 'trick' from calculus: divide the numerator and

denominator by the highest power of n . If we do that here, we get $x_n = \frac{\frac{n}{n^2} + \frac{1}{n^2}}{\frac{n^2}{n^2} + \frac{2}{n^2}}$

$$\text{(for } n > 0) = \frac{\frac{1}{n} + \frac{1}{n^2}}{1 + \frac{2}{n^2}}.$$

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator. Note that $x_0 = \frac{1}{2}$, but $x_{10} = \frac{11}{102}$, which is about $\frac{1}{10}$, and $x_{100} = \frac{101}{10002}$, which is about $\frac{1}{100}$. So hopefully your intuition is telling you that $(x_n) \rightarrow 0$. You may recall the following 'trick' from calculus: divide the numerator and

denominator by the highest power of n . If we do that here, we get $x_n = \frac{\frac{n}{n^2} + \frac{1}{n^2}}{\frac{n^2}{n^2} + \frac{2}{n^2}}$

(for $n > 0$) $= \frac{\frac{1}{n} + \frac{1}{n^2}}{1 + \frac{2}{n^2}}$. The numerator approaches 0 and the denominator approaches 1, so we expect the entire sequences to converge to 0.

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator. Note that $x_0 = \frac{1}{2}$, but $x_{10} = \frac{11}{102}$, which is about $\frac{1}{10}$, and $x_{100} = \frac{101}{10002}$, which is about $\frac{1}{100}$. So hopefully your intuition is telling you that $(x_n) \rightarrow 0$. You may recall the following 'trick' from calculus: divide the numerator and

denominator by the highest power of n . If we do that here, we get $x_n = \frac{\frac{n}{n^2} + \frac{1}{n^2}}{\frac{n^2}{n^2} + \frac{2}{n^2}}$

(for $n > 0$) $= \frac{\frac{1}{n} + \frac{1}{n^2}}{1 + \frac{2}{n^2}}$. The numerator approaches 0 and the denominator approaches 1, so we expect the entire sequences to converge to 0. Can we extrapolate a more general result here?

General Limits of Sequences

Let's pause to do a concrete limit computation.

Example

Let $x_n = \frac{n+1}{n^2+2}$. Find the limit of (x_n) if it exists. If it doesn't exist, prove it.

I am not going to solve the problem just yet, but rather, am going to talk through it. Note that the numerator and denominator are both getting big as n gets big. But the denominator is always bigger than the numerator. Note that $x_0 = \frac{1}{2}$, but $x_{10} = \frac{11}{102}$, which is about $\frac{1}{10}$, and $x_{100} = \frac{101}{10002}$, which is about $\frac{1}{100}$. So hopefully your intuition is telling you that $(x_n) \rightarrow 0$. You may recall the following 'trick' from calculus: divide the numerator and

denominator by the highest power of n . If we do that here, we get $x_n = \frac{\frac{n}{n^2} + \frac{1}{n^2}}{\frac{n^2}{n^2} + \frac{2}{n^2}}$

(for $n > 0$) $= \frac{\frac{1}{n} + \frac{1}{n^2}}{1 + \frac{2}{n^2}}$. The numerator approaches 0 and the denominator approaches 1, so we expect the entire sequences to converge to 0. Can we extrapolate a more general result here?

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large. We want for $\frac{1}{x_n}$ to get arbitrarily close to $\frac{1}{L}$ as n gets arbitrarily large.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large. We want for $\frac{1}{x_n}$ to get arbitrarily close to $\frac{1}{L}$ as n gets arbitrarily large. Said in another way, we know that $x_n - L$ gets arbitrarily close to 0 as n gets arbitrarily large, and we want to show that $\frac{1}{x_n} - \frac{1}{L}$ gets arbitrarily close to 0 as n gets arbitrarily large.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large. We want for $\frac{1}{x_n}$ to get arbitrarily close to $\frac{1}{L}$ as n gets arbitrarily large. Said in another way, we know that $x_n - L$ gets arbitrarily close to 0 as n gets arbitrarily large, and we want to show that $\frac{1}{x_n} - \frac{1}{L}$ gets arbitrarily close to 0 as n gets arbitrarily large. Note that, getting a common denominator, $\frac{1}{x_n} - \frac{1}{L} = \frac{L - x_n}{Lx_n}$.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large. We want for $\frac{1}{x_n}$ to get arbitrarily close to $\frac{1}{L}$ as n gets arbitrarily large. Said in another way, we know that $x_n - L$ gets arbitrarily close to 0 as n gets arbitrarily large, and we want to show that $\frac{1}{x_n} - \frac{1}{L}$ gets arbitrarily close to 0 as n gets arbitrarily large. Note that, getting a common denominator, $\frac{1}{x_n} - \frac{1}{L} = \frac{L - x_n}{Lx_n}$. Note that $L - x_n = -(x_n - L)$.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large. We want for $\frac{1}{x_n}$ to get arbitrarily close to $\frac{1}{L}$ as n gets arbitrarily large. Said in another way, we know that $x_n - L$ gets arbitrarily close to 0 as n gets arbitrarily large, and we want to show that $\frac{1}{x_n} - \frac{1}{L}$ gets arbitrarily close to 0 as n gets arbitrarily large. Note that, getting a common denominator, $\frac{1}{x_n} - \frac{1}{L} = \frac{L - x_n}{Lx_n}$. Note that $L - x_n = -(x_n - L)$. Since $x_n - L$ gets arbitrarily close to 0, so does $-(x_n - L) = L - x_n$.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large. We want for $\frac{1}{x_n}$ to get arbitrarily close to $\frac{1}{L}$ as n gets arbitrarily large. Said in another way, we know that $x_n - L$ gets arbitrarily close to 0 as n gets arbitrarily large, and we want to show that $\frac{1}{x_n} - \frac{1}{L}$ gets arbitrarily close to 0 as n gets arbitrarily large. Note that, getting a common denominator, $\frac{1}{x_n} - \frac{1}{L} = \frac{L - x_n}{Lx_n}$. Note that $L - x_n = -(x_n - L)$. Since $x_n - L$ gets arbitrarily close to 0, so does $-(x_n - L) = L - x_n$. Since $x_n \rightarrow L$, we know from General Limit Law 1 that $Lx_n \rightarrow L^2$.

General Limits of Sequences

Let's do a final example which will feed into one of your hw problems...

Theorem (General Limit Law 4)

Suppose that $(x_n) \rightarrow L$, $x_n \neq 0$ for all $n \in \mathbb{N}$, and $L \neq 0$. Then $(\frac{1}{x_n}) \rightarrow \frac{1}{L}$.

I'm only going to informally talk through the proof; I'm not going to give the formal argument. The reason for this is because I want to try to impart the intuition that precedes the proof. We know that $(x_n) \rightarrow L$, which means that x_n gets arbitrarily close to L as n gets arbitrarily large. We want for $\frac{1}{x_n}$ to get arbitrarily close to $\frac{1}{L}$ as n gets arbitrarily large. Said in another way, we know that $x_n - L$ gets arbitrarily close to 0 as n gets arbitrarily large, and we want to show that $\frac{1}{x_n} - \frac{1}{L}$ gets arbitrarily close to 0 as n gets arbitrarily large. Note that, getting a common denominator, $\frac{1}{x_n} - \frac{1}{L} = \frac{L - x_n}{Lx_n}$. Note that $L - x_n = -(x_n - L)$. Since $x_n - L$ gets arbitrarily close to 0, so does $-(x_n - L) = L - x_n$. Since $x_n \rightarrow L$, we know from General Limit Law 1 that $Lx_n \rightarrow L^2$. So the intuition here is that $\frac{\text{close to } 0}{\text{close to } L^2}$ is close to 0.